
B.C.A. (|Ind Semester) Examination, June 2024 

Time: 3 Hours ] 

Note : 

Note : 

BOA-275 

Paper -BCA 4.5 DCCT 24 

(Mathematics for Computer Science) 

2 marks. 

( ) , 

Section-A 

Answer all ten questions (Answer limit 50 words). Each question carries 

(GUg 31) 

Section-B 

| Maxinum Marks : 120 

200 words). Each question carries 8 marks. 

(Marks:2 x 10 = 20) 

(qug-a) 

(3B6 : 2 x 10 = 20) 

Answer all five questions. Each question has internal choice (Answer limit 

(Marks :8 x5 = 40) 

(3ja6: 8 x 5 = 40) 

1 

DT 



Note 

() 

(i1) 

question caries 20 marks 

Answer any three questions out of five (Answer limit 500 words) Each 

BB-75 

Add the following matrices 

Section C 

A =5 

Find the transpose of the follow1ng matrix 

9 

Section-A 

(40g-3) 

2 

3 

2 

3 

07 

-1 

2 

51 

4 

5 

9 

4 

2 01 
B=0 

0 

2 ) 

(Marks : 20 x 3 = 60) 

3 

(3B6 : 20 x 3 = 60) 

BCA-275 



(ii) 

(iv) 

(v) 

(vi) 

(ix) 

(x) 

BB-75 

A =|5 

Define a proposition. 

(viii) Define power set. 

9 

01 
-1 B=0 1| 
2 2 

Write the truth table for conditional statement. 

Define likelihood. 

[2 0] 

(vii) Define empty set and give an example. 

What is the meaning of congruence modulo ? 

What do you do in bans step of mathematical induction ? 

0 3 

Find the probability of getting 3 on rolling a die. 
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2. 

3. 

Multiply the following matrices : 

A = 

frffu 4146 Un ifs : 

A = 
[3 

BB-75 

Section-B 

5 

2 

(qUg-a) 

B= 

B= 

Or 

[3 0 

(3ra) 

Explain the concept of logical equivalence. 

Or 

Can we multiply any two matrices ? Justify your answer. 

-1 2] 

(3gd) 

0 

-1 2 

Describe the concept of biconditional using truth table. 

( ( 4 ) 



5. 

4. Using mathematical induction, prove that : 

for n e [1, o). 

1+4' + 4' +..... + 4" = 

1+4' + 4?. 

BB-75 

+ 4" = 

Or 

(34a) 

Explain the concept of modular addition in context of congruence modulo. 

A = {1, 2, 3} 

Find the union and intersection of the following sets : 

( 

A = 1, 2, 3} 

( 

4"+l-1 

B= {0, 1, 5, 6, 7, 2} 

3 

4"* -1 
3 

B = (0, 1, 5, 6, 7, 2} 

5 ) 5 BCA-275 PCO. 



6. 

7. 

8 

Explain the concept of set diference and Cartesian product. 

the top of dice is 12. 

Two dice are thrown together. Find the probability that product of numbers on 

A = 

Or 

(37T) 

Differentiate between discrete and continuous random variables. 

-5 2 

7 4 

BB-75 

Or 

Find eigenvalues and cigenvectors for A = 

(3Tra) 

Section-C 

9 Explain Euclid's division algorithm. 

(GUG-) 

Explain the concept of normal forms using example. 

-5 2 
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10 Expla1n the following using examples 

(a) Complement of a set 

(b) 

(4) 

(4) 

Various representations of a set. 

A bag contains 4 balls. Two balls are drawn at random without replacement 

and are found to be blue. What is the probability that all balls in the bag are 

blue ? 
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